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Topic:- Child Development & Pedagogy (CDP)

1) A student is motivated to study due to the belief that a good grade will help his/her
application for Class Representative. According to the Humanistic Theory of Motivation which
need is he trying to fulfil? / T& BT 39 Ay A 3reg 31 & e f e giar & fF a1 ds

ISP /ITB! BT UfAFARI §97 & et § Heg S| FUTURON & AHadmard! fRigia & oaR, 98 foa
STIRGH AT B [T HIA D1 BRI B 6T 82

1. Esteem Needs / S8! 3Ta=gdhdl
2. Self-actualization Needs / 3{T& fa=cIvUr &t TaRgHl
3. Social Needs / FMHI® TaRIHdT

4. Physiological Needs / fhard® sraRgdmdr

Correct Answer :-

« Esteem Needs / S5 3Gl

2) Which of the following idea about learning process is not implied by the theory given by J.
Piaget? / fafafaa # o9 W faR . we g1 fiw e Rigia & siftrma 3t uftear & Wy & Aifga

&
1. Learning is passive assimilation of given knowledge. / ST T 7T 99 &1 Ffspg sifeyan %I
2. Learning is an internal process of construction. / 3ifeRTy fAmfor @ TS 3fidRe ufhan %I

3. Learning cannot stem from observation or experience alone. /3T Had fddid- a1 3THd ERCERRE
HepdT|

4. The process of learning makes sense in situations of change only. / 31feRTH &t UfshaT Had TRad- Bt
fRufaat & vz & ot 81
Correct Answer :-

« Learning is passive assimilation of given knowledge. / 3iferTH feu T 34 &1 FAfsra ifeydr 31

3) Children belonging to same age group and sharing similar social background are known as

./ U g Tt & g=l BT AT SR U qTAIIG Yy H /TS HAT FEIH




ST ST B
1. Play mates / W & I
2. Friends /ﬁlﬁ

3. Class mates /“V'IETI'I_O'CT
4. Peer Group / 1T BT JHG

Correct Answer :-

 Peer Group / Tf 1 dJHg

4) Low student engagement inside the class could be because of - /| F&Td W B ot 9
HeHIRET f5g SR A 8 gt 8-

1. model based learning / ATSd TR AT
2. Cognitive conflicts / GTTHD Ty

3. Interactive sessions / HATGIHD T

4. the lack of interest / BTd &1 HHT

Correct Answer :-

« the lack of interest / i< b1 HHI

5) Observation is an example of: / AP BT TP 3qlgRul % :
1. Assessment / 3Thcl-

2. Evaluation / HcdTh

3. Measurement / AU

4, Test / ORT&0T

Correct Answer :-

e Assessment / STh I

6) A disability present in which of the following? /

8?
1. All of these / ITgad T+t
2. Continence, dexterity or physical coordination only / PHad I, ﬁ'Q'UW, 1 IRING =g

3. Speech, hearing or eyesight only / Fae HTNUI, 4quT T (S

4. Mobility, perception or memory only / PHad AR, 3&TH a1 Fﬂﬁl

Correct Answer :-



« All of these / Iudad Tt

7) involves a stimulus which strengthens the probability of the expected response. /

H U IS AfRferd gidt 8 i eruféra ufafrar & Iuran &) yad st 81

1. Negative punishment / ThRIHD qUS

2. Negative reinforcement / THIRIHD Y- Sq

3. Positive punishment / hRIHD qUS

4, Negligence / SIERCIF]

Correct Answer :-

 Negative reinforcement / TPIRIHD ':‘1'1@‘1-@1'1

8) Which approach to teaching does strengthen one’s memory? / Rreor & fore

®1-91 TP 101 fohd) ) W ) AoTgd Bar 82
1. Multisensory /E@ﬂ'a'c(pf
2. Visual memory / €Y Wﬁf

3. Tactile memory / TR F:Jﬁ
4. Audio-lingual / N ICBIANICH|

Correct Answer :-

o Multisensory / agﬂéa‘i

9) According to Kohlberg level of morality is determined by social norms explicitly or

implicitly agreed upon by a group of people. / aﬁw & SR, Afvwar F1 TR

: AHEs! gRT Wy wu A Ruffyd gar 8 a1 ail & te 9Yg gR1 WP U A JgHd gidl
I

1. Post-conventional level / US9-URUN® W
2. Conterventional level / BIeIdRAA &IX
3. Pre-conventional level / tﬁfﬂﬂﬂﬁ&? RIS

4. Conventional level / TRURN® ¥X

Correct Answer :-

« Conventional level / TRUR® &R



What is the process by which information is lost from the long term memory due to nonuse? / dg

witean &1 8, R gr1 Sdeifre e @ S Gaa1 SguaiT 817 & SR eI Sl 872
1. Delay / facia

2. Decay / &4

3. Rehearsal / Ganamg

4, Interference / BW&)W

Correct Answer :-
e Decay /&9

11) What does Kohlberg’s theory of development focus on? /ﬁ?ﬁ"’f% e w s fFaw
Hfae?

1. Moral judgement 1 Afaes fofa

2. Moral behavior / Afd® sadgR

3. Cognitive judgement / IJTHTHD fAofg
4. Judicial behavior / e HaER

Correct Answer :-

e Moral judgement / e o

12) What type of model describes development as a passive, predictable response to stimuli? / fra

UHR T Alsd Mare & e ve fAfesy, srgafaa ufafrar & wu # faer &1 avfq sear?
1. Organismic model / ST Afsd

2. Mechanistic model / 43dd Aled

3. Attentional model / 3[R AlSd

4. Descriptive model / JUMHTES AlSA

Correct Answer :-
« Mechanistic model / ¥3dd Al

13) What does OCD stand for? / 318 (OCD) F1 Quf ¥ 1 82

1. Obsessive-Compulsive Design / fieRa-HrHferd %\Jﬂi"l

2. Obsessive-Compulsive Disorder / Hisafa- iy fsgaiiex
3. Obsessive-Cognitive Disorder / istfa. wifdfea fegaiiar

4. Office of Cognitive Design / iy 3T Sifdfca IESIER]



Correct Answer :-

e Obsessive-Compulsive Disorder / 3HeuRyg-FHrfeyg fegsiisy

14) Theories of Child Development explains: / dT¢T faer & Rigia afvfa #d % fb:
1. How children grow and change. / S Y GIGSI 3R gead %I

2. How children behave in schools. / &/ Wg_ﬁ'ﬁ TP IIER FRA & |

3. How children are educated. / & &9 e 81d €|

4. How children react to situations. / aé tlﬁ'@‘lﬁ'{h ff ﬁ Uﬁﬁﬂ:ﬂ aﬁ % |

Correct Answer :-

» How children grow and change. / 5= HY d({aa 3R Sedd %I

15) Which famous psychologist first proposed the theory of Insight Learning from his study of
chimpanzees? / {6 Ufig ARaTA® A tgell IR Rivish R 3= {53 1 sreqa= | Siaef® siftnm &

Ry (Rt oifw gerge @+ &1 wfufea fFar
1. Edward Thorndike / USTS YMSTSH

2. Wolfgang Kohler / BT BIGIR

3. Jean Piaget / ST s

4, Tan Pavlov / ‘s’quTa?ha

Correct Answer :-

» Wolfgang Kohler/ BT HIgR

16) Which of the following is an intelligence test? / Frafefaa # 9 s=-ar Udh §'@ e %?
1. Locus of Control Test / Y 31 dHeld o

2. Sentence Completion Test / AT EUhT TR1&r

3. Myer-Briggs Type Indicator Questionnaire / TR o T3y Hahdd usTae

4. Binet-Kamat Test / fSme-mHd udieor

Correct Answer :-

« Binet-Kamat Test / fSme-smd udieor

17) Which of the following is not a type of reasoning? fFrafafaada -1 Th YPIR BT GEZ
T8I 82
1. Syllogistic reasoning / SUCTHR] ddh (ﬁﬁ[ﬁ%%i SIf=T)



2. Deductive reasoning ARG GG (Fesfaea et
3. Transference reasoning / SRR T
4. Transductive reasoning / URQAN®G® dd (CFHS e JIfT)

Correct Answer :-

» Transference reasoning / SR qh

18) Which of the following is not a gateway drug? / fFrafafea # 9 F=-an Udh Ted Rl T8l %?
1. Alcohol / RRTd

2. Tobacco / AT

3. Marijuana/ Tlm&ﬂ:ﬂ

4. Cocaine / DIDHIA

Correct Answer :-

« Cocaine / BIBIH

19) Which of the following is not the focal point in the process of teaching? / FFrafafaa & 3 -
Rreror 1 witear o I fig T8 82

1. Pupil / 8T

2. Content / ATHH

3. Teaching method / fRr&or fafdy

4, Teacher / FR1&/®

Correct Answer :-
« Teaching method / fRr&for fafdy

20) Which one of the following is the symptom of ADHD? / fRufaf@d # ¥ ®19-11 vdiead) &1 daon

82

1. Boredom / 3Gl

2. Stuttering / gh Il

3. Hypersensitivity/ fadde=iaar
4. Hyperactivity / 3ifar Afebard

Correct Answer :-

o Hyperactivity / 3ifa Tfopaan



21) Vygotsky’s Theory of Language is based on learning theory. / ARt BT HTHT BT
g ftrm & i w smaRa g1

1. Behaviorist / AdgRaTe]
2. Cognitive / GMTHSD
3. Constructivist / ?_tFITa'I—pr

4. Emotional / HIGITHD

Correct Answer :-

o Constructivist / TIATATEL

22) is one of the many ways through which culture affects development. / a@’

TS 7 A TP e & PR wregH @ Seehy, ey &) yHifad svd 21
1. Religion / &

2. Context / FgH

3. Language / HTST

4. Environment / GRQRI

Correct Answer :-
o Language / HTHI

23) is studied under Personality and Social Development. / PI

Y AfRIcd 3R AT faHrd & 3idiid fpar Sar g1
1. Egocentric behavior / 31Id-lal.9i?<d ogdalR
2. Memory process / Wﬁm

3. Perceptual acuity / SAYRUNTHD d1&UTdT

4. Premature birth / 0T Y q\_qc ¥

Correct Answer :-
« Egocentric behavior / 3B %d AIER

24) The purpose of scientific investigative learning in education is: / Rrem o %inﬁm S SffeRTH
W .

1. To encourage collaborative work / m’rﬁ ST DI mT\EIT%H P f%rq
2. To complete the curriculum content / UTGASHH JTHHT Cal T & & fog
3. To build scientific literacy / IS TreRdT o1 AT = &b fag

4. To provide hands-on experience in class / P&l T ge SHd Yald AP forg



Correct Answer :-

e To build scientific literacy / m geral &1 A A1 & ﬁ‘l'q

25) Outlining the expectations from the students will enhance their learnability. This task becomes

part %f: / BT T SUTS BT T B A ST SAFRTH FY &rmar § g ghft1 a5 o e &1 fewar a1
Slldl &:

1. Summative assessment / IRIRId THAT
2. Assessment of learning / ST BT HTHa
3. Assessment as learning / ST & =4 T 3fTdhed

4. Assessment for learning / ST & forg s

Correct Answer :-

» Assessment for learning / ST & Y see

26) When social values and beliefs are deliberately changed in an individual, it is known as

aawmqﬁﬂsﬁvumsﬁaﬁﬂmwmm%ﬁvﬁaﬁhw%mm% a‘rsﬁ
Y ST ST 8

1. Secondary Socialization / IEGIREERS ISR

2. Primary Socialization / UTfPreh JHTSIRROT

3. Anticipatory Socialization / TR AT R0
4. Re-socialization / G: - TS HT

Correct Answer :-

» Re-socialization / Y - TS HT

27) “Practice makes man perfect” can be example for which law of Thorndike? / “3¥TH HJ® Ca|

aRrguf g7 2 1+ uifese & frd fraw & e Ierevur 8 goar @2

1. Law of exercise / 3/ &1 fHgH

2. None of the above / SURIad H I Tﬁ'sc '_-léjf
3. Law of readiness / dcdRdl & {199

4. Law of effect / THTd &1 g9

Correct Answer :-

« Law of exercise / 3119 &1 g



“The Hierarchy Theory of Motivation” is a theory proposed by: / “TROTT BT SJPH Rrgiar 3"'{33
gr1 ufaurfea fasar war:

1. Abraham Harold Maslow / SdlgH %ﬁ@' IS

2. Le Semyonovich Vygotsky / ot RAifaa argtic!
3. B.F. Skinner / Eﬁw PR

4. Jean William Fritz Piaget / S faferad flhest foarst

Correct Answer :-

e Abraham Harold Maslow / §lTgH %QTQ’S e

29) CANCELLED

Which of Marcia’s types of identity status is characterized by a crisis leading to commitment? /

TR & {9 TR $ vgar # fRUTY Y 37 g2 gRY vg=rn S @ o ufdagan ot 22
1. Identity achievement / Ugdl+ SUTdI

2. Identity moratorium / YgdI SR

3. Identity diffusion / Ugdld UHIR

4. Identity foreclosure / Ugdl- BISIGR!

Correct Answer :-

o Identity achievement / Ugdl+ 3UcTsdl

30) What is called education acquired without any specific purpose, fixed period and

pIace?/Wﬁﬁl’EG@'@, ﬁfﬁaeﬁfﬁaﬁvw%ﬁmm%a&r&nﬁwwm%?
1. Formal Education. / 3iTTaTRas fRref

2. Informal Education / 3{oaTias fRref

3. Indirect evaluation / 3TYT& Hedlh1

4. Individual Education / SafeTe fRr&

Correct Answer :-

« Informal Education / &@W@T&ﬂ

Topic:- General Hindi (L1GH)

1) Rier= ftw 36 o=l 3 Yot arh oft,
g¢ R ¥ +ft 3 fie & =t srarh <A,
T 5% STeTd) B FAa ge g A,



w pft &1 S &t Ja= 991 | o At

TP I3t G WG H, 98 dadR R A,

ga geardl & He gH Gl per o,

T IS} AeiHl a8 df it arelt T i

PHHER S A1 B, Ygaldl g1 ot A,

agHtaTS AT, e 91 95 da st A,

AT & T ugd! ot g, A & G Qe A,

TS, T, PUIYT, HeR) ITB! gd) Goell A1

AR Rrarslt 3t My TS a1g war A,

4o gRaal & 4§ g9 it B A,

T a! wei-it ag ol S areht I A

et i a1 gt R 95 Wd IRar Y AR,

39 #R1S Yafohd gid IS daaR] & IR,

THdl JH-g DI 7T 3R [T G RPR,

= W, gt A 3 3 39 g f@wars |

ST UL $) UgH 4 [P WM a1 U= BT I«i¥ qa1su|
uy: Hfaar & T F g fQears fe= waf &) we1 1 82
1. Had Ahdll JG-ogg Pt 1

2. Had I YA, il e

3. HId o RIBGR AT

4. Iuad T+t Hrd

Correct Answer :-

. IqYed Wit ek

2) g fea 33 Tera=n 3 y@dt arit A,
¢ yRa A oft o v A it ot A,

Tt g% ST A Fod T v A,
 p¥ft &1 w3 Bt J9= 11 | ST At
THS ISt I W19 H, 98 aaR RAT A,
gad el & de g it wer R,

T dS) Aeil a8 f it areht T i
FHER F A1 B, Feareh g5 odie A,
agHiaTs AW, frar $1 95 Hara st A,



AT & H ygd! ot 98, A1 & G Wt A,

TS, T, PUI, FeRI STB! &t qRelt At

IR Rrarsh #1 MU ITH! AT T A,

gdd geatel & Hg g9 Gt per @,

T IS} Aei-l a8 df it arelt T i

et A a1 gt i 95 Wd IRar B AR,

39 RIS gafed gid IUPT aAaR] & TR,

THdl Jg-ogg DI 7T 3R DT G RFR,

/= TR, gl e A 3 3w i fwars |

IUYed U=l B Ugh? 19 YD WM 9T U= $T Sk Ja13¢|
w: ‘g FFaht &) H Bt Ja 97 § o f &1 7 aaaq 82
1. gHT &7 7 R T T

2. UG H W BIE el

3. Ga i U T I QX B b1 Gt ot

4. ST 3R o7 ST A Rl &t @ e &1 Ay fear ar

Correct Answer :-

o TSI 3R ST ST A bl ot @ s o1 e foam ur

3) Rigra few I woras 7 Yyl ari o,
¢ WRd ¥ ot 3 v & =7t srarit <A,

T g€ ) B Fraa we vgErE A,

T ot ot T oY |5 79 7 3 A
THS 1 T I H, 9§ qaaR R A,
430 gRatel & He gH N Bl @,

T <) AeiHl a8 df it arelt T i
PHEYR & AT B, Yearen 98 Datat A,
deiiarg A, fUrar 3t 95 Ha s o,
AT & Tyt At 98, A & G @t A,
TS, T, P, TR SHS! Tg1 Agert A
IR Rrarsht B MU @t ar1g war A,
93d geatal & He gad i e 4,

W @St walt ag at i areft I dhi
aet <&t a1 gt i 95 W diven B @R,



W WIS YA gid IUP! qe@R] & dR,

TH! J5-og DI 9T R Qa1 G PR,

= W, gt de 3 3 39 g f@wars|

ST Ui ®) UgH 4 [P WM a1 U= $T I«iX qa1su|
u: f5a STl &) Biaa gas! Tust ¥ o g A2

1. TH g2 AT He T8 83

2. OIS SIS

3. didbdifAd TS

4. Sl 3freTTet Ured ot

Correct Answer :-

- g AT s g

4) Rigr fda 3 Tora=i 3 Pt arit A/,
¢ yRa A oft o v A it ot A,

Tt g% ST A Fd T v R,
 p3ft &1 S Bt Ja= 11 | ST At
THS I3 I W19 H, 98 aaR RAT A,
§3d gedtal & Yg gH G perl 4,

W @St walt ag at i arelt I i
FHER F A B, Feareh g5 died A,
weHtars I, T #Y a8 Har erpelt A,
AT & H ygd! o 98, A1 & G Wt A,
ST, T, PUIVT, FeRI ITP! TGt Tgat A
dR Rrarsht #1 MU ITH! ATg T A,
440 gl & 4 g9 G B A,

T w! wei-t ag af S arent I A
et A a1 gt i 95 Wd IRan Y AR,
3@ RIS gafed gid IS aAaR] & TR,
T GS5-gg Pt 1 3R Ve GE NN,
= R, g dis 3 A S g fewars|
IuYad U= B Ugh? 19 YD 9M 9T U= $T Sk a3t
wy: frad R &1 MUt I agHiars @ gegart arg o
1. AT Y i



2. IR fRrarsh ot
3. HERIUM UdTd &1
4, AT HSUENY Bt

Correct Answer :-

. dR fRrareit &

5) Rigra fga I3 wora= A Yyt arh &,
¢ yRa ® oft 3 v A Tt wrart A,

T g€ ) B Fraa T ugErE A,

o fhaft ot B 3t e g9 & o <A
THE ISt T HATEH H, 98 aaaR R A,
§ad et & e g g derh R,

T a) wei-t ag ol S areht I A
YR & A1 B, Yeaie g8+ odra A,
wefiarg A, far $1 98 "ar st A,
AT & H ygd! ot 98, A1 & G Wt A,
TS, T, P, FeRI TSB! gt wgat A
IR Rrarsht B MU ISt a1g war A,
§3d gl & Yg gH Gl perl i,

T IS} AeiHl ag df it arelt T i
et At a1 gt i 95 W@d IRan Y AR,
3@ RIS gafed gid IUP aAdR] & TR,
TN G5-g P 1 3R W GE RN,
/= W, g e A 3 3w i fwars |
IuYed U=l B Ugh? 19 YD WM 9T U= $T Sk Jast|
UY: SaTsd 5 3 9 v R & w1y agdtars =8 @t 9
1.3

2. eldd

3. heRl

4, BT

Correct Answer :-



6) Rigre fRd 3& wera=it 7 yHt arit o,
¢ yRd A oft 3 v A Tt et A,

T g€ e} B Praa T ugErE A,

= fp¥ft &1 w3 &Y J9= 91 | ST At
THE ISt T HUEH H, 98 aaaR R A,
430 gRaiel & He ga G Bl @,

T a! wei-t ag al S areht I A
PR & 1 B, Ygaie g8+ ot A,
wearg A, T $1 98 "ar st A,
AT & H ygd! ot 98, A1 & G @t A,
TS, T, PUT, PR SHS Tg1 Aoert A
IR Rrarsit B MU ISt a1g war A,
930 gl & Yg gH Gl perl i,

T IS} Aei-l a8 df it arelt T i
et A a1 gt i 95 Wd IRar Y AR,
W WIS gafed gid IUPT qAdR] & TR,
TPl G5-gg P 1 3R W GE RN,
/= W=, g e 3 3 39 i fAwars |
IuYed U=l B Ugh? 19 YD WM 9T U= $T Sk Ja3t|
wy: Tt Al A frae! frad g 3 @1 o A
1. TRl & S |

2. foo it & =15t

3. WA I IST -

4, T3l 1 HRA I

Correct Answer :-

. A & HRA I

7) Rigra= fea 33 Iora= A Yt arit A,
¢ WRd ¥ ot 3 v & =7t srari <A,

T g€ e B Fraa we vgEr A,
 fft &1 S &t J9= 991 | o At
THS IS1 I 916 §, 98 dadR QR o,
g¢ot gRaiteil & e g9 Gt el @,



W @St walt ag ot e arelt I dhi

FHEYR & A1 B, Ygard! g1 oara 6,

aetars A, frar #Y 98 Ta srbelt A,

AT & 7 g A ag, T F FU Qeft Y,

ST, TTA, PUIVT, FeRI IAP! Igt Agat A

dR Rrarsh @t MU SHw! are Tl A,

43d geatal & He gH g P A,

T a) wei-t ag af S areht I A

et A a1 gt i 95 Wd IRar B AR,

W WIS YA gid IUP! qeaR] & dR,

THdl JH-gg DI 7T 3R [T G RFR,

A7 A, gl Ae A A 39S fra fR{wars |

S Ui $1 UgH 14 UD WF 1d U= HT Ik qarsu|
WY TS 31 1 Jara A F fory 9 FT 3R 3R A wan &2
1. 1857

2. 1957

3.1757

4. 1657

Correct Answer :-

o 1857

8) Rigra= faw 3 wwax=i A ypet ari &,
g2 yRa A ot 3 v A Tt srart <A,

T g€ e} B Praa we ugErE A,

o fhaft ot B 3t g9 & o <A
THS I1 T I H, 9§ qaarR R A,
43 gl & 4 g gt werh A,

T w! wei-t ag al S arent I
FER F 1 3, el g o 0,
AgHIars A, fUar &Y ag Jar st oft,
AT & T gl At 98, A1 F FU1 Qe A,
TS, T, FUIVT, TRl TSB! Tgt wgat A
IR Rrarsht & MU IS a8 Far A,



§3d gl & Yg gH G perl o,

W a) uel-t ag ot il areht 3w R

aeHt <&t a1 gt i 95 W diven B @R,

3T WIS gafed gid IAPT aAaR] & TR,

THe g5-ogg DI TE1 3R Ve G RPR,

A= TR, gt A 3 3 39 i f@wars|

ST UL B UgHR 1 IS 9 a1d U= $T Ik qarsy|
w: HarE A deht iR gt dewr I agiarE B fPaeT saaR we1 82
1. STl BT

2. TTadl Bl

3. dRAT BT

4. Ritaell 1

Correct Answer :-

« dRAT®I

9) Rigry= fea 3 wwa=m A Yyt art A,
¢ YRa A oft o v & At wrarit A,

Tt g€ areid) o e Fe veErE 4,

W p¥ft &1 S &t Ja= 91 | ST At
THS I3t G WA H, 98 qAaR R A,
ga gatdl & He gH Geil per o,

QY a3} Al ag o i areht 7=
PHHER S A1 B, Ygaldl g1 odre A,
deHiars A, fUar #Y ag Jar srdat oft,
AT & T ugd! ot g, A & ST Qe A,
TS, T, PUTYT, HeR) ITS! gd) Goell A
IR Rrarsh #1 MU ITH! aTg Far A,
430 gRatel & He ga g Bl @,

T a! Hei-t ag ol S areht I A
ae&Ht <t a1 gut < 98 Tad dRar B JEaR,
W RIS Gafrd gid IUPT dadR] & IR,
THA! g5-oF DI 9T R W G PR,
/=1 R, g e 3 A 3uS g f@wars|



S Ui B UgH 14 UR WF 1d U= $T Ik qargu|
T: HARE A I AGHEE Bt doHl [BaP Yo S g A2
1. fordt @ =1t

2. §adl-gralal 9

3. 3O A °

4. U TR & AN 4

Correct Answer :-

. god-gRad 4

10) Rigra= fRa IS wora=n A ypdt arit A,
¢ YR ¥ oft 3 v & =7t rarh <A,

T g€ e} B Fraa T ugErE A,

X 3t o) FeA 3t e 7 A B <
THE ISt T HAIEH H, 98 aaaR R A,
§3d gedtel & Yg gH G perl i,

T a! wei-t ag af S areht I A
FER F 1 F, Ygaleh g S &,
agtars A, fUrar 3t a5 Har i o,
AT & G gt At 98, A1 F FU Qe o,
TS, T, FUIT, FeRI SHB! Tgt Agat A
IR Rrarsit B MU ISt a1g war A,
gdd geatel & He g gt per @,

T IS} AeiHl a8 df it arelt T i
et At a1 gt i 95 W@ IRan Y AR,
W WIS gafed gid IUPT qAaR] & TR,
THel g5-og DI TaT 3R Vel G RPR,
= R, gl dis 3 A 39S g feaars|
IuYed U=l B Ugh? 19 YD WM 9T U= $T Sk Ja3t]
TY: 39 HIadT § YR B ggT Y HaT 1497 82
1. FTH A HIS Tl

2. IG1 Bt (YD WA &S HRUI

3. HRd &1 UTH-dT & HRUT

4. AR B YbTH &b HRUI



Correct Answer :-

« YRd B! Ul & BRI

11) Rigrae ffa IS wrora=n A Yyt ari A,
¢ YRa # ot o v A At wrari A,

T g€ 3 B Frea T vgEr A,

W pft &1 S Bt J9= 991 | o At
THS I3t G WG H, 98 qaaR R A,
ga gardl & He gH Gl per o,

T IS} AeiHl a8 df it arelt T i
PHHER P A1 B, Ygaldl g1 odre A,
deHiars A, fUar #Y ag Jar st oft,
AT & T ugd! ot g, A & ST Qe A,
TSI, T, UV, TR} IAD! T wgelt A
R Rrarsh #1 MR ITH! aTg T A,
gaet gRalal & He gaq gt derl o,

T a! wei-t ag ol S areht I A
et i a1 gt R 95 Wd IRar Y AR,
9 RIS Gafrd gid IS daaR] & IR,
THd! JH-g DI 7T 3R [T G NP,
=1 R, g s 3 A 3uS g f@wars|
ST Ui $1 UgH 19 IR WM a1 U= HT Ik qargu|
TY: 59 Biaar | fbaft f5d wer mar 32

1. ISl ¥ 3HTT gaierdl ol

2. forTeT 1 o T 81

3. 31018 ¥ 31T 3T i

4. 1 ¥ 1Y TR &

Correct Answer :-

. 3iS W MY SIS P

12) Rz fda 3¢ woa=n = ypet art <R,
¢ YRd ® ot o fibw I 7=t Sarh <ft,

T & oot 9t Fwa wa ugarh A,



w pft &1 A &t Ja= 991 | o At
THE I3t G WA H, 98 qAaR R A,
ga gardl & He gH Gl per o,

T dS) AeiHl a8 df it arelt T i
PHHER S A1 B, Ygaldl g1 ot A,
wgHiaTs A, frar 31 98 Har sl A,
AT & T ugd! ot 98, A & ST Qe A,
TS, T, PUIYT, HeR} ITB! gd) Goell A1
R Rrarsh #1 MU ITH! aTg Far A,
ga<t gRalal & He gH gt derl o,

T a! wei-it ag al S areht I A
et i a1 gt R 95 Wd IRar B @R,
9 RIS Yaford gid IS daaR] & IR,
THdl JH-g DI 7T 3R [T G RPR,
/=7 R, gl s 3 A 3uS g f@wars|
SUYa Ui $I UgH? 1 IR W 1 YA P Sk qa13¢|
TY: $H HiadT F YR R Ta15d fF FaReh &1 vha frast siv 82
1. STSIRTT URIET &1 3R

2. 3TN Bt 3R

3. 4RI Ud &1 3R

4, A BT IA BT 3R

Correct Answer :-

. I BIIA BT 3R

13) Rigre fRa 3 Tera=i 3 ypdt arit A,
¢ yRa A oft o v A it ot A,

Tt g% ST A Fod T v A,
 p¥ft &1 w3 Bt J9= 91 | ST At
THS I3t I WG H, 98 aaaR RAT A,
§3d gedtel & Yg gH G perl o,

T IS) Aeil a8 ) it areht T i
FHER F A B, Feareh g5 odie &,
agHiaTs AW, T 31 98 Hara st A,



AT & H ygd! ot 98, A1 & G Wt A,

TS, T, UV, FeR IqP! T wRe A

IR Rrarsht #1 AR ITH! AT T A,

Yoo gl & Yg gH Gl perl i,

T IS} Aei-l a8 df it arelt T i

et At a1 gt i 95 Wd IRan Y AR,

3T WIS YAfHd g IP! T@aR! & R,

THdl J5-ogg DI 7T 3R DT T RPR,

/= TR, g e A 3 39 i fwars |

IUYed U=l B Ugh? 19 YD WM 9T U= $T Sk Ja13¢|
UY: 39 Pfadl & YR W Fa1zd for agfiars & feaa uig-gg=1 &2
1. Hadl & SUHT B forh a1 5|

2. g I eI 5|

3. AEHaTS SU+ Ut &1 Sfavett dar ot

4. T UTS-Ueb S5+

Correct Answer :-

. qeiaTs 3 fUar 1 sibat Iam ot

14) Rigra fewr I Teax A Yyt art A,
¢ WRd ¥ ot 3 v & =7t srarit <A,

T g€ ) B Frad we vgErE A,

T et ot T oY e 79 7 3 A
THS 1 T I H, 9§ qaaR R A,
430 gRatel & He gH N Bl @,

T <) AeiHl a8 df it arelt T i
PHEYR & AT B, Yearen 98 Datat A,
deiiarg A, fUrar 3t 95 Ha s o,
AT & Tyt At 98, A & G @t A,
TS, T, P, TR SHS! Tg1 Agert A
IR Rrarsht B MU @t ar1g war A,
93d geatal & He gad i e 4,

W @St walt ag at i areft I dhi
aet <&t a1 gt i 95 W diven B @R,



W WIS Yafdpd gid IP| qe@R] & dR,

THdl JH-E DI 7T 3R [T G NP,

= W, gt de 3 3 39 g f@wars |

ST Ui $) UgH 9 [P WM a1d U= $T I«i¥ qarsu|
T: I+ AEHaTg 3 daaR! $ IR T@H B afed gid A2
1. 30T

2. 910t

3. RIS

4. TOHATS

Correct Answer :-

15) Rigra= fRa 3 wora=n A ypdt ari A,
¢ yRa # oft o v A it ot A,

Tt g€ STeid) Y Fua Fa veErE 4,
 p¥ft &1 S &t Ja= 11 | ST At
TS ISt I WG H, 98 aaaR R A,
§3d gedtal & Yg gH G perl 4,

W @St welt ag af i arelt I dhi
FHER F A B, Feareh g5 odie A,
weHtars I, T #Y 98 Har erpelt A,
AT & H ygd! o 98, A1 & G Wt A,
ST, T, PUIVT, FeRI IAP! TG Agat A
dR Rrarsht #1 MU ITH! ATG T A,
440 gl & 4 g G B A,

T w! wei-t ag af S arent I A
et A a1 gt i 95 Wd IRar Y AR,
39 WIS Gaford gid IS qaR] & IR,
T GS5-gg Pt 91 3R Ve GE NN,
= 1, g dis 3 A S firg feaars|
ST U BT TgHR -11d I 9 a1t Y= $T SR qarsy|
uY: Wgd Hfaar ¥ ‘Rigrae ffa 37 A frad Rignaa & fa 3o+ &1 forp 82
1. TS SAGION &



2. 3Gl &
3. R Ramgdi &
4. AR fageiar &

Correct Answer :-
. YRaE Raraal &

16) THR 3T W AIGdiAD IRIT Pt UGl HS! U 99 §§ o9 HIHT TR TR 154l BT TS gaiml Tn
gt foram war aifds T 8 HTHT S aTet A1 U 81 IS0 | 3§ b | B IS BT TS YT & ATYR IR
T8 afep e, AT, Tpfa, e F MR W g3m; I ANd'S, IWIES R RIS | YR W9 B
oot wdiem ot gt S yrer Aif1 gER ARy A A of wrwr &Y g urer &1 gof a9 e @1 ’E @
ARPTRG U1 & =0 H "= fyeft | afs= i Faar 409 uRdral $t argumen 31 gaferd gust yrrsi #t
& & o $ wrauT 9918 A | fEE & s, 21 3w yrwre @Y WA gRT srggfa HIeT %1 gui fean
AT 8 | TS & a1 & ARG oy # ) &1 IR-FE & & 41t o3 3t Sk 78 #t 1)

Fg MR T5U & R2a: Fg o T59 & 99 & Redl & gfed ¥ g0l g saawat &) 3R aa e 31
TS} F TIE TP @a THT 9F YR P ISR fawil | bg 3R 3759 & T & U] &) IR gon Feit ot
I fel wRa # S99 $t diturel gadt f 39 R § 5 WER SR 19 WHR & USRI Fi
Jraear Bedt 4t I WPR gRT SR W T@ufedr fiwm w o3 Isul W agufa W ang @ e
ST AT

1989 & T1¢ ¥ % T TSEUT WRPR BT SR TaAT| §HP UNUIRGREY g IRBR Pt W@HAwdr & T R
T H ArgieRt &Y A3 aRurd 3% g3 1 A1 H9T o Aohal ¢ F 3@ YRa A wHita srawi w3 yad g3
211991 B} FTUFT & AR URA H 1500 ET-SET HTHTE | FT HTHTSH B $© BT YTiadi & Jqg o
T T B | ITeR01 & o Wieigdy, wneht, Seerast, oiiarel, worri, ofielt 8fik ®5 = urwnaif &1 f&dh
F I o @1 T 31 fafte yrwiel & 9 9 & a1 ot yRa A 114 g1 YT €1 399 A 22 HTwnei #t
ﬂﬁs%q%msa%zﬁaaﬁﬁawaﬁaﬁﬁwﬁmwﬁl 3T HTHTSHT BT S-S HTST Hal
EIGIE]

I TR B UghR 1A IR T U= P Ik qa13¢|
UY: /9 TP ¢ 1 $g § PR Al ) 350 TWPR] & AfYPR] BT 1 Beal A2
1. UTeH

2. 3{dgaHl

3. HIH-HHIT

4. 9 ol

Correct Answer :-

17) TUR 31 8 AIGdiiA® TawIT Pt Ugl HS! UIST a9 §§ o9 UIHT TR TR II4l &1 TS+ gaiml Tr
gt foram ar aifds T 81 HTHT S aTat AT U €1 IS0 | 3§ b | B I BT TS HINT & ATYR IR
8 afep i, ST, Tpfa, 3nfe F MR W g3m; S ANd'S, IWIES R FRTS | YR W9
oot wdien At gt B yrer Aif1 gER SRy A A of urwr &Y g urer &1 gef T e @1 ’RE
STTYSTRG UTHT & U § Ar=uar firet | afp= fF Faa 40 URdRN 31 argurer 81 saferd gast utwrai &
& & o $% wrauT™ a91a A & & e, 21 3T YT Y WA gRT g HTST &7 gui fear
AT 8 | ATSITEL F a1 & ARSI vy § ) &1 - & & 41t o3 3t Sk 78 1t 1)



¥ R T & NRA: Fg 3R 79 F d9 & Rzal & gt I gar S awit o iR ga fyer g1
SATATE & 91¢ TP dd JHY a9 YR & SIS el § H5 3R 7T & TP 8 UTel ) IRPR g wedt A
A fel wRa # o109 $t Attt gadt F 39 A # 5 MOR SRR I WER & USRI Ft
Jragar Bedt 4t I WPR gRT sRI-A Wt T@ufear fiem w o3 wsul w agufa wre oy 1 e
ST AT

1989 & 91¢ ¥ Fg T TSTUT PR BT G TaAT| 3P URUIEGREY Iod IRBR Pt W@rawal $ T iR
T A ATSieR! B A5 uRuTdl IE g3 1 VAT H§T o Tl @ b 3 YRa A ey a1 $t Sifte vad g3
211991 B} FHIUMT & AR UIRA H 1500 SET-SMET HTHTE 3| 37 HTOTSH ) $© oI yrwrait & wqg o
@1 T 81 3518701 & ford Wieg s, woreht, g o, wiadl, Iy, ofieht ok #3 o=y wrwrait o1 &
& Igg § @1 T 21 Al ymwrel & g a9 & 9t ot uRa o 114 =71 YOI § 1 399 | 22 TS &t
#ﬁ?%mﬂaﬁzﬁmwﬁaﬂmﬁwwﬁl 3T HTUTSHT P 31-3rIfera HTST gl
Srar gl

ITYe TR Y USHT 19 IR T U= $T I« 9a13¢|
UY: YR G Y gast wdiem & 42

1. JSTUTdl o1 fgfad

2. Xl 1734

3. HTT-Hifd

4. yUfa &1 Fafas

Correct Answer :-

18) THR T H AIGdiAD IRIT Pt UGl S U a9 §§ o9 HIHT TR ATUTIR I3l BT TS gaiTl Tn
gaferd fosan war aifds T 81 HTHT S aTet AT U 81 IS0 | 3§ b | TS Il DT TS U & YR TR
T2t afep e, ST, Tpfa, e F MUR W gam; I AnTd's, IWIES R FRTS | YR Jg B
a8 Tdigm At g5t Bt wtwr i) TR WY F A R v A g v @1 gt T e @1 =’ @
MFAUPBTRE UTaT & =0 & wr=ran firelt | afee & Faa 40% YRS ot argumar 31 sufer) gt yrarei &
T & o &S wrau™ s | &Y & srarar, 21 3R UTWISH B WiAUT gRT Srgfua WT &7 gwf fean
T 1 AT & a1¢ & iz gvg # fEd) &1 R-Ed &3 # 210 oA &) FifRrr a8t S s |

Fg 3T T5U & N2a: F5 o I59 & d9 & Redl & gfed ¥ gur) GHig saawat &) 3R aa e 31
STATE & 91¢ TP Ad JHY a9 YR & SIS fewl § H5 3R 7 & TP 8 el ) TRPR g wedt At
S e WRa | S0 o AT gad d1 39 A # $% WOR SRR T WMeR $ ARSR] a1
Jragar Bedt 4t I WHR gRT sRI-A Hff Teufedr fiwm w o3 wsul w agufa W ang % e
ST AT

1989 & 1 A % T MU TRPR BT SR TaAT| §HP UNURGREY g IRBR Ht W@HAdT & T R
T H ATierR) B A5 uRurdl IE g3 1 V9T HET o1 Tl @ b 3@ YRa A THig uawi1 $at Sifte vaa g3
211991 Tt FTAUFT & AR YR F 1500 -3 HTUTE § | 37 HTHISH Ht $© GBI utwisil & agg o
T T 2 | ITeR01 & o Wieig sy, wneht, Searast, oiiarel, worri, et 8fik w5 3= urwnafi @1 f&dh
F Igg ¥ @1 T 31 Al yrwrel & 9 9 & a1 ot uRa § 14 =1 YTt €1 399 | 22 HTwnei at
#ﬁ?%&mea@zﬁsaqﬁawaﬁaﬁmﬁwwﬁl 3= WIS B 3f-3JgfUd HTST FHgT
AT g1

IUY T T B UgHR 1 IR T U= P Sk qa15¢|

TY: ITATE! & TG T THY TP D5 MR SHUHT I4l | fba- gall $1 WOR Teit?
1.

2.3



4. IR

Correct Answer :-

19) THR AT H AIGdiAD TIRIT Pt UGl S U a9 §§ oG UIHT TR ATUTR Il BT TS gaiTl Tn
gaferd far Tar a1fs Ter & UTHT e aTd AT U &1 X1od W I b | $S Sdl BT TS HIHT & YR W)
2t afep A, ST, Tpfa, e F MUR W gam; I ArTd's, IWIES R FIRTS | YR Jg B
a8 Tfign At a5t Bt wtwr i) TR WY 7 A R v ) e @1 gt T8 e @1 =’ @
AMFAUPBTIRE UTaT & =0 & wr=ran firelt | afdes & Faa 40% YRS ot argumar 31 suferd gust yrarsi &
T & o +S wau™ s | &S & srarar, 21 3R WIS B WiAUT §RT Srgfua WrT &7 gwf fean
T 1 AT & a1¢ & iz gvg # fEd &1 - a3 & 210 oA &) HifRrr a8t S s |

Fg 3T T5U & R2a: Fx 3 I59 & d9 & Redl & gied ¥ gur) aHig saawat &) 3R a0 e 31
STATE & 91¢ TP dd UG a9 YR P SIS el § H5 3R 7o & T 8 el ) IRPR g wedt At
A fel wRa # S99 $t dFrel gadt 39 AT # % WMeR SR I WER & ARSRI Ft
Jraga Bedt 4t I PR gRT sRI-A Hff T@ufedr fiwm w o3 wsul W agufa W ang 1 e
ST AT

1989 & TG A % H TSTUT WRPR BT SR TaAT| §HP UNUIRGREY g IRBR t W@rAwdl & T R
T H ATierR) B A5 uRurdl IF g3 1 V9T 8T o Tl @ fh 3@ YRa A THig uawi1 $t Sifte vad g3
211991 Tt FTUFT & AR YR F 1500 S-S HTUTE § | 37 HTHTSH $t $© GBI uTwisit & g o
TET T B | ITeR01 & ford Wierg sy, wneht, Searast, Biianrel, vorri, et 3fik o5 3= urwnaii @1 f&dh
F Igg o @1 T 31 Al yrwrel & 9 9 & a1 ot e § 14 =1 WTaTe €1 399 | 22 HTwnei &t
#ﬁ?%mea@zﬁsaﬁﬁawaﬁaﬁmﬁww%l 3T HTHTSH BT S-SRI UTST FHaT
STl

ST TR B UgHR 1 UD T U= o1 Ik qa1su|

UY: TR S W ADAIAD HGIT DI UG Pt URIET H9 §32
1. GfAY™ aF] Hd I8

2. HfAY™ AN Hd T

3. UTNTAR AT o T34 & 99

4. fAatem & g

Correct Answer :-

o YINTAR Al & T3 &b THT

20) TUR X ¥ AGAiND TaRIT Bt Ugal B3t URIET a9 §3 od HTHT IR TR IS BT TS+ g3l Tar
gt foram war aifds T 8 HTHT S aTat AT U 81 IS0 | 3§ b | TS Il DT TS HINT & YR TR
T8 afep e, AT, TPpfa, e F YR W ga; I ANTd's, IWIES R FRTS | YR Jg B
oot wdiem ot agt Bt yrer Aify1 gER WRue A A of wrer &Y g wrer &1 gof a9 e {1 ’E @
ARFTRG HTaT & =9 H "= fyeft | afes= i daar 409 yRdral $t arguman 31 gafer gast yrrsi #t
T F o w3 wau™ 391 | Y & srarar, 21 3R UTHISH 1 WA gRT Srgfua WrT &7 gwf fean
T 1 AT & a1¢ & iz gvyg # fEd &1 - a3 & 210 51 ) SRy 98t S s

Fg 3T T5U & R2a: Fg 3R T59 & 99 & Real & gied ¥ g0l g saawat &) 3R ad e 31
SATTE & 91E TP Ad JHY a9 YR P SIS fewl # H5 3R 7oy & T 8 urdl ) IRPR g wedt At
S faAt WRd @ Sigw B Aiel gadt 91 g7 A § % WER SRR I5T WHR & SDRI B



AT Bl AT | Iy WBR GRT SRI-A W Tufear i@ W &% weal W Agufa T+ arg &2 fau
STl AT

1989 & T1G A % T MU WRPR BT &R TaAT| §HP UNUIRGREY g IRBR Ht WAl S T R
T A ATierR) B A5 uRuTdl IF g3 1 V9T 8T o1 Tl @ b 3@ YRa A THig uawi1 $8t Sifte vad g3
211991 Pt FTUFT & AR YR F 1500 -3 HTUTE § | 37 HTHTSH $t $© GBI UTwisit & g o
T TT B | ITeR01 & ford wieig sy, wneht, Searast, Siiarel, worri, et 3fik o5 3= urwnafi &1 f&dh
¥ Igg ¥ @1 T 31 Al yrwrel & 9 9 & a1 ot uRa A 114 g1 YT €1 399 | 22 HTwnei &t
ﬁ?%mea%zﬁsaﬁﬁawaﬁaﬁmﬁmw%l 3T HTHTSH BT S-SRI UTST HaT
STl

ITYR TR Y UgHR +H ID T U= o1 Ik qa1su|
wy: i§ & f6a e B o & = F A= fedt:
1. ATTHINT

2. frdt & u o 7

3. JTFHTHT

4. STABTRD HTHT

Correct Answer :-

o SMMYBTING HToT

21) TUR N ¥ AhAiiNS aRIT HI Ugal B3t URIET a9 §3 od HTHT IR TUTRE IS} BT TS+ g3l Tar
gt foram T aifds T 81 HTHT S aTat AT U 81 IS0 | 3§ b | B I BT TS YT & HTYR IR
T8 afep e, ArdiadT, Tpia, e F MR W g3, I ANd's, IWIES R RIS | YR W9 B
oot wdiem ot gt Bt yrer Aify) gER Whue A Rl oft wrer &Y g urer @1 gef a9 e @1 ’E @
RIS HTaT & =0 & "r=an fyeft | afes= fFd Faar 409 uRdral St arquma 31 gafert gast yrrsi #t
& & o $ wrauT 9918 | fEE & s, 21 37w yrwre Y WA gRT srggfa HIeT %1 gt fear
AT 8 1 AT F a1 & ARG auy § ) &1 IR & & 410 o3 3t S 78 #t v

F5 R TS F R b 3R 78 & 9 & Rzdl F g § gArR) Gty sgaw &1 3R g e 21
TS} F I TP da THT 9F YR P SIGTaR fawil # bg 3R 359 & T & urdf &) IR gon ot ot
3 Al yRa | S99 ot @il gadt F 39 A § % WOR SRR IT69 WIR & ATUSRT
JagerT Hat At I WHR gRT SR f Wufear @™ R #F wsaf w wgufa e oy = faan
ST AT

1989 ¥ 91¢ A % T TEaYT PR BT IR TaATI TP URUITHREGTY IoT IRPR $1 Wrawdl & T 3R
T H AieRt B A3 aRurd 3% g3 1 U1 BT o Aohar ¢ % 3@ YRa § wvita srawi w1 e yad g5
211991 B} TUMT & STAR URA H 1500 ET-S(T HTHTE 1 FT HTHTSH B $© BT YTurai & Jqg o
T TT 2 | ITeR01 & o Wieig sy, woneht, Searast, oiiarel, worri, ofielt ik o5 = urwnaif &1 f&dh
F Tgg o @1 T 31 Al yrwrel & 9 9 & a1 ot uRa A 14 g1 YTOTE €1 399 A 22 HTwnei &t
ﬁﬁu;%msa%zﬁemﬁaweﬁaﬁﬁwﬁww%l 3T HTHTSHT BT S-S HTHT Hal
EIGI]

ST TR B UghR -1 IS T U= HT Ik qa13¢|

WY ST WRPR GRT SR1-A oft Taufgar fe@m w wrwai & a1y «n giar 412
1. 3IEH H FHerdt

2. FUfd AR A1,

3, JHIY | S0



4. JTaYyT= § HH

Correct Answer :-

SRS CRISEESIUS

22) TUR ¢ | Aihdifs oIawIT BT Ugelt B! WIS a9 §5 oI HIHT U MR Il BT TS gaiTl Tar
i foram war aifds T € UTHT S aTe A U §1 IS0 W 3§ AP | O ISl BT TS YT & 3TYR TR
8t afep e, ST, Tpid, 3 F YR W ga; T ANTd'S, IWIES R FRTGS | YR Hg B
Tt wfiem f gt @t Wi Aifd) sEr Ay A et off w1 g v @1 gwt 18 e 31 Rd @
AMFAUPBTRE YT & =0 & wr=ran firedt | afdes & Faa 40% YRR ot argumar 31 saferd gt yrrsi &
T & o +E wau™ 391 | &Y & srarar, 21 3R UTWISH B WiAUT gRT Srgfua Wrr &1 gwt fean
AT 8| TS & q1g & ARG aud § ) o1 TR &= | A1 9= 3t SR 78 ot 1)

¥z R TG F R2a: Fx 3R I59 & S F Rxal F gaefea I gard afta sraw &1 ok aa frar 21
SATATE & 91¢ TP dd JHY a9 YR & SIS el § $5 3R 7o & TP 8 el ) IRPR g Hedt A
A fel wRa # o109 $t Al gadt f 39 A # % MOR SR I WER & AFUSRI Ft
Jraga Bedt 4t I PR gRT sRI-A Wt T@ufear fimm w o3 wsul W agufa wre ang 1 e
ST AT

1989 & 91¢ ¥ Fx T TSEUT PR BT G TaAT| 3P URUIEGRSY Iod IRBR Pt W@rawdl $ T iR
T H ATSieR) B A5 uRuTdl IE g3 1 VAT H§T o Tl @ b 3@ YRa A THig a1 $8t Sifte vad g3
211991 Pt FTHIUFT & AR YRA F 1500 S-S HTUTE § | 377 HTHTSH Bt $© g7 UTwIsi & g o
@1 T 81 351870l & ford WieTq s, woreht, g o, weiadl, Iy, ofieht ik #3 sy wrwrait #1 &
& Igg § @1 T 31 Al ymwrel & g 9 & a1 ot uRa § 114 =71 YTt § 1 399 | 22 HTwsH &t
ﬁ?%mﬂaﬁzﬁmwsﬁaﬁmﬁwwél 3T HTHTSHT P 31-3Ifera HTST el
AT 8|

ST TR B USRI T U= o1 Ik qa1su |
Y YN, ST, TP, 3Mfe & ATUR W 98 | b1 Il &7 T g2
1. Had AR S

2. HId IRTS
3. I IILS

4, Iqgad Tt

Correct Answer :-

- Sugaa

23) TUR <X | Aihdiis oIawIT BT Ugelt Bl U a9 §5 o HIHT U MR sl BT TS gaiT | Tar
gaferd far Tt a1fs Te & UTHT Fia aTd AT U &1 1o W I b | TS ISdl BT TS HIHT & YR W)
2t afep N, ST, Tpia, e F YR W g3, I ANTd'S, IWIES R FRTS | YR Jg B
Tt wfiem f gt @t W Aifd) sEr @iy A et ot w1 g v @1 gwt T8 e 31 ’Rd @
MFAUPBTRE UTHT & =0 & wr=rar firedt | afdes & Faa 40% YRS ot argumar 31 safer gt wrarei &
T & o +S wau™ a1 | S & srarar, 21 3R UTWISH B WiAUT §RT Srgfua WT &7 gw fean
AT 8 | TS & a1 & ARG auy § ) &1 TR-E & & 410 5= 3t SR 78 ot v

Fg MR T5U & R2a: Fx o I59 & 9 & Redl & gfed ¥ gurt g saqwam &) 3R ad e 31
JTITE} F 91¢ UP da THY 9P HIRA & saTeTar ) # &g iR Iy § v €1 urdf &t ISR g3 Het At
S e WRa ® S B AT gadt A 3T A § $% WOR SR I WER & AISRIT 31




AT Bl AT 1 Iy WBR GRT SRI-A W Tufear i@ W &% wval W agufa e+ arg & fau
ST T

1989 & T1G ¥ % T MU TRPR BT &R TaAT| §HP UNUIRGREY ] IRBR t WAl & T R
T A ATierR) B A5 uRurdl I® g3 1 V9T H8T o1 Tl @ b 3@ YRa A THig uawi1 $t Sifte vad g3
211991 Pt FTUFT & AR YR F 1500 S-S HTUTE § | 37 HTHTSH $t $© g7 uTwisit & g o
T T B | ITeR0N & ford Wieig sy, wneht, Searast, Biianrel, vorri, et 3fik ®5 s urwnafi &1 f&dh
¥ Igg H @1 T 31 Al yrwrel & I 9 & a1 ot uRa A 114 =1 WTOTE €1 399 | 22 HTwnei &t
#ﬁ?%mela@zﬁsaﬁﬁmwaﬁaﬁmﬁww%l 3T HTHTSH BT 3-SR UTST FHal
iG]

ITYR TR Y UgHR +H ID T U= o1 Ik qa1su|

Y: $g 3R I F AT F Rxal & gfe A aia sgawar &) iR w1 fyan
1. 919

2. dcf

3. URMAA

4. MG

Correct Answer :-

24) TUR ¢ § AGdiiA® IaRT Bt UGl Hol UG T9 §5 oId UTHT TR SATYTRG AT BT TS g3HTI U7
gt foram T aifds T 81 HTHT S aTat AT U 81 IS0 | 3§ b | B I BT TS YT & HTYR IR
T8 afep e, ArdiadT, Tpfa, e F MR W gam; I ANd'S, IWIES R RIS | YR W9 B
oot wdien At gt B yrer Aify) gER Wy A A o wrwr #Y g wrer &1 gef a9 e @1 /&S @
UGG UTT & ¥ & Hr=ya fireit | afer fEd Faa 40% YRR ST ArquTeT 31 saferd gust Hrursii &
& & o $ wrauT 9918 | fEE & s, 21 37w wrwre Y WA gRT srggfa HIeT %1 gt fean
AT 8 1 AT F a1 & ARG auy § ) &1 IR & & 410 o3 3t S 78 #t v

F5 R TS F R b 3R I8 & & Rzal F gl § gArR) Gy sgawr &1 3R g e 21
TS} F I TP @a THT 9F YR P ISR ol | bg 3R 359 & T & urdf &) IR gon Fet ot
3 Al yRa | S99 ot @il gadt F 39 A § % WOR SRR IT69 WIR & ATUSRT
JagerT Hat At I WHR gRT SR f Wufear @™ R #F wsaf w wgufa e oy = faan
ST AT

1989 ¥ 91¢ A % T TEaYT PR BT IR TaATI TP URUITHREGTY IoT IRPR $1 Wrawdl & T 3R
T H AgieRt B A3 uRurd 3 g3 1 U1 H9T o Aohar ¢ % 3@ YRa A Tty srawi w1 e yad g5
211991 B} TUMT & AR URA H 1500 ET-SET HTHTE &1 FT HTHTSH B $© BT YTuiahi & Jqg o
T T B | ITeR01 & o Wieig sy, wneht, Searast, oiiardl, worri, ofielt ofik ®5 =g urwnaif &1 f&dh
F Tgg o @1 T 31 fafte yrwiel & 9 9 & a1 ot yRa A 114 g1 YTOTE €1 399 | 22 HTwnei &t
ﬁﬁu;%msa%zﬁemﬁaweﬁaﬁﬁwﬁww%l 3T HTHTSHT BT S-S HTHT Hal
EIGI]

ST TR B UghR -1 IS T U= HT Ik qa13¢|

T TR AU 3 5 HTeT Y g uren 31 g 3 32
1. 3SH

2. Bt

3. dffre



4. fodfl ot i 76t

Correct Answer :-

- fodi ot ot 78T

25) TUR <X H Aihdifs oIawIT BT Ugelt Bl WIS a9 §5 oI HIHT U TR Il BT TS gaiT | Tar
i foram war aifds T € UTHT S 91e AT U €1 IS0 6 3§ AP | O ISl BT TS YT & 3TYR TR
8t afep N, ST, Tpid, e F YR W ga; I ANTd'S, IWIES R FIRTGS | YR Ig B
Tt wfiem f gt @t Wi Aifa) sEr Ay A et off wren @1 g v @1 gwt 18 e 31 Rd @
AMFAUPBTRE UTHT & =0 & wr=ran fredt | afdes & Faa 40% RSN ot argumar 31 safer gt yrarsi &
T & o &S wau™ a1 | &S & srarar, 21 3R UTHISH Bl WiAUT gRT Srgfua Wrr &1 gwt fean
AT 8| TS & q1g & ARG aud § ) o1 TR &= | A1 9= 3t SR 78 ot 1)

¥z R TG F R2a: Fx 3R o9 & S F Rxal F gafea I gard aita srawn &1 ok aa frar 21
SATATE & 91¢ TP dd JHY a9 YR & SIS el § $5 3R 7o | TP 8 el ) IRPR g Hedt A
A fel wRa # o109 $t At gadt f 39 A § S5 MOR SRR I WER & AFUSRI Ft
Jragar Bedt 4t I PR gRT sRI-A Wt T@ufear fiem w o3 wsul W wgufa wre ang 1 e
ST AT

1989 & 91¢ ¥ Fx T TSEUT PR BT G TaAT| 3P URUIEGRSY Iod IRBR Pt W@rawdl $ T iR
T H ATieR) B A5 uRuTdl IF g3 1 VAT H§T o Tl @ b 3@ YRa A THig a1 $t Sife vad g3
211991 Pt FTHIUFT & AR YRA F 1500 - HTUTE § | 377 HTHTSH Bt $© YT UTIsi & g o
@1 T 81 31870l & ford Wierqdy, woreht, g o, oiadl, Iy, ofieht ik #3 sr=r wrwrait o1 &
& g § @1 T 31 fafte ymwrel & 9 9 & a1 ot uRa § 114 =71 YOI § 1 399 | 22 TS &t
#ﬁ?%mﬂaﬁzﬁmwsﬁaﬁmﬁwwél 3T HTHTSHT P 31-3Ifera HTST el
AT 8|

ST TR B USRI T U= o1 Ik qa1su |

wy: & & sramar fra-t o=a wTwreh &1 SrREfRIa WIS BT guit feam w32
1.21

2.13

3.22

4. 20

Correct Answer :-

o 21

26) TUR <X H Aihdifs oIawIT BT Ugelt Bl U a9 §5 o HIHT U MR sl BT TS gaiT | TaT
gaferd far Tar a1fs Ter & UTHT Fia aTd AT U &1 o § I b | TS WSdl BT TS HIHT & YR W)
2t afep N, ST, Tpia, e F YR W g3, I ANTd'S, IWIES R FRTS | YR Jg B
Tt wfiem f gt @t W Aifd) sEr @iy A et ot w1 g v @1 gwt T8 e 31 ’Rd @
AMFAUPBTRE UTaT & =0 & wr=ran firelt | afde & Faa 40% YRS ot argumar 31 safer) gt yrarei &
T & o w3 wau™ a1 | &S & srarar, 21 3R UTWISH Bl WiAUT §RT Srgfua WT &7 gwi fean
AT 8 1 TS & a1 & ARG auy § ) &1 IR & & 410 5= 3t SR 78 a1t 1)

Fg MR T5U & RN2a: Fx o I59 & d9 & Redl & gfed ¥ gur) g sagwar &) 3R ad e 31
TSI F 91¢ UP da THY 9P HIRA & saTeTar el # &g iR Iy § veh €1 urdf &t IR g3 Het At
3 e WRa ® S B AT gad A3 A § $% WOR SR I WHR & AISRI 31




AT Bl AT | Iy WBR GRT SRI-A W Tufear i@ W &% weal W Agufa T+ arg &2 fau
ST AT

1989 & T1G A % T MU WRPR BT &R TaAT| §HP UNUIRGREY g IRBR Ht WAl S T R
T A ATierR) B A5 uRuTdl IF g3 1 V9T 8T o1 Tl @ b 3@ YRa A THig uawi1 $8t Sifte vad g3
211991 Pt FTUFT & AR YR F 1500 -3 HTUTE § | 37 HTHTSH $t $© GBI UTwisit & g o
T TT B | ITeR01 & ford wieig sy, wneht, Searast, Siiarel, worri, et 3fik o5 3= urwnafi &1 f&dh
¥ Igg ¥ @1 T 31 Al yrwrel & 9 9 & a1 ot uRa A 114 g1 YT €1 399 | 22 HTwnei &t
ﬁ?%mea%zﬁsaﬁﬁawaﬁaﬁmﬁmw%l 3T HTHTSH BT S-SRI UTST HaT
STl

ITYR TR Y UgHR +H ID T U= o1 Ik qa1su|
wy: &Y fra wiamma uRedal &Y arqurem 32
1.30%

2.10%

3. 40%

4. 20%

Correct Answer :-

o 40%

27) TUR X ¥ AhAiiNd aRIT Bt Ugdl B3t URIET a9 §3 od HTHT U TUTRT IS BT TS+ g3l Tar
gt foram T aifds T 81 HTHT S aTat AT U 81 IS0 | 3§ b | B I BT TS YT & ATYR TR
T8 afep e, ArdiadT, Tpia, e F MR W g3, I ANd's, IWIES R RIS | YR W9 B
oot wdiem ot gt Bt yrer Aify) gER Whue A Rl oft wrer &Y g urer @1 gef a9 e @1 ’E @
TS HTaT & =0 H "= fyeft | afes= fFd daar 409 yRdal St arqumn 31 gafert gast yrrsi #t
& & o $3 wrauT 9918 A | fEE & s, 21 37w wrwre Y WA gRT srggfd HIeT $7 gui fear
AT 8 | ATSATEL F a1 & ARG auy § Y &1 IR-FE & & 41t o3 3t S 78 +t )

F5 R TS F R b 3R 78 & 9 & Rzal F gl § gArR) Gy sgaw &1 3R aa e 21
TS} F I TP @a THT 9F YR P ISR el | bg 3R 39 & T § urdf &) TR R gon Fet &t
31 Al yRa # S0 ot Al gadt F 39 A % WOR SRR I69 WIR & ATUSRT
JagerT Hat At I WHR gRT SR f Wufear @™ R #F wsaf w wgufa e oy = faan
ST AT

1989 ¥ 91¢ A % T TEaYT PR BT IR TaATI TP URUITHREGTY IoT IRPR $1 Wrawdl & T 3R
T H AieRt B A3 aRurd 3% g3 1 U1 BT o Aohar ¢ % 3@ YRa § wvita srawi w1 e yad g5
211991 B} TUMT & STAR URA H 1500 ET-S(T HTHTE 1 FT HTHTSH B $© BT YTurai & Jqg o
T TT B | ITeR01 & o Wieig sy, wneht, Seerast, oiiardl, worri, ofielt ofik o5 =g urwnaff &1 f&dh
F T o @1 w31l ymwrel & 9 9 & a1 ot uRa A 114 g1 WTOTE €1 399 A 22 HTwnei &t
ﬁﬁu;%msa%zﬁemﬁaweﬁaﬁﬁwﬁww%l 3T HTHTSHT BT S-S HTHT Hal
EIGI]

ST TR B UghR 1 IR T U= T Ik qa13¢|
WY:1989 & 91¢ A H5 A {1 TRBRI TSR g1
1. FUfd 2R

2. YT WHR

3. HeUHd PR



4. §gUd Bl DR

Correct Answer :-
o TTEEYT WPR

28) TUR X1 H Aihdifs oIawIT BT Ugelt Bl WIS a9 g5 oI HIHT U MR sl BT TS gaiT | Tar
i foram war aifds T § UTHT S aTa A U €1 IS0 W 3§ AP | O ISl BT TS U & 3TYR TR
8t afep e, ST, Tpid, 3 F YR W ga; T ANTd'S, IWIES R FRTGS | YR Hg B
Tt wfien f gt @t Wi Aifd) sar Ay A et oty @1 g v @1 gwt 18 e 31 Rd @
AMFAUBTRE YT & =0 & wr=ran frelt | afee & Faa 40% YRR @t argumar 31 saferd gust wrarai &
T & o &S wau™ 391 | &S & srarar, 21 3R WIS B WiAUT §RT Srgfua Wrr &1 gwt fean
AT 8| TS & q1g & ARG aud § ) o1 TR &= | A1 9= 3t SR 78 ot 1)

¥z R TG F R2a: Fx 3R I59 & S F Rxal F gaefea I gard afta sraw &1 ok aa frar 21
SATATE & 91¢ TP dd JHY a9 YR & SIS el § $5 3R 7o & TP 8 el ) IRPR g Hedt A
A fel wRa # o109 $t Al gadt f 39 A # % MOR SR I WER & AFUSRI Ft
Jraga Bedt 4t I PR gRT sRI-A Wt T@ufear fimm w o3 wsul W agufa wre ang 1 e
ST AT

1989 & 91¢ ¥ Fx T TSEUT PR BT G TaAT| 3P URUIEGRSY Iod IRBR Pt W@rawdl $ T iR
T H ATSieR) B A5 uRuTdl IE g3 1 VAT H§T o Tl @ b 3@ YRa A THig a1 $8t Sifte vad g3
211991 Pt FTHIUFT & AR YRA F 1500 S-S HTUTE § | 377 HTHTSH Bt $© g7 UTwIsi & g o
@1 T 81 351870l & ford WieTq s, woreht, g o, weiadl, Iy, ofieht ik #3 sy wrwrait #1 &
& Igg § @1 T 31 Al ymwrel & g 9 & a1 ot uRa § 114 =71 YTt § 1 399 | 22 HTwsH &t
ﬁ?%mﬂaﬁzﬁmwsﬁaﬁmﬁwwél 3T HTHTSHT P 31-3Ifera HTST el
AT 8|

ST TR B UgHR 1 I T U= o1 Ik qa1su |

wy: fafte yrwrel & uE 99 & a1g ot yRa § frast g ymTe 82
1. 105

2.102

3.110

4. 114

Correct Answer :-

- 114

29) TUR ¢ H Aihdifs oIaRIT BT Ugelt B! WIS a9 §5 o HIHT U MR Il &7 TS gaiT | TaT
gaferd far Tt a1fs Te & UTHT Fia aTd AT U &1 X1od W I b | TS ISdl BT TS HIHT & YR W)
T8t afep e, ST, Tpia, e F YR W ga; I ANTd'S, IWIES R FRTS | YR Jg B
Tt wfiem f gt @t W Aifa) sEr @iy A et oty @1 g v @1 gwt 186 e 31 ’Rd @
MFAUPBTRE UTHT & =0 & wr=rar firedt | afdes & Faa 40% YRS ot argumar 31 safer gt wrarei &
T & o +S wau™ a1 | S & srarar, 21 3R UTWISH B WiAUT §RT Srgfua WT &7 gw fean
AT 8 | TS & a1 & ARG auy § ) &1 TR-E & & 410 5= 3t SR 78 ot v

Fg MR T5U & R2a: Fx o I59 & 9 & Redl & gfed ¥ gurt g saqwam &) 3R ad e 31
JTITE} F 91¢ UP da THY 9P HIRA & saTeTar ) # &g iR Iy § v €1 urdf &t ISR g3 Het At
S e WRa ® S B AT gadt A 3T A § $% WOR SR I WER & AISRIT 31




AT Bl AT 1 Iy WBR GRT SRI-A W Tufear i@ W &% wval W agufa e+ arg & fau
ST T

1989 & T1G ¥ % T MU TRPR BT &R TaAT| §HP UNUIRGREY ] IRBR t WAl & T R
T A ATierR) B A5 uRurdl I® g3 1 V9T H8T o1 Tl @ b 3@ YRa A THig uawi1 $t Sifte vad g3
211991 Pt FTUFT & AR YR F 1500 S-S HTUTE § | 37 HTHTSH $t $© g7 uTwisit & g o
T T B | ITeR0N & ford Wieig sy, wneht, Searast, Biianrel, vorri, et 3fik ®5 s urwnafi &1 f&dh
¥ Igg ¥ @1 T 31 Al yrwrel & 9 9 & a1 ot uRa A 114 g1 YT €1 399 | 22 HTwnei &t
#ﬁ?%mela@zﬁsaﬁﬁmwaﬁaﬁmﬁmw%l 3T HTHTSH BT S-SRI UTST HaT
iG]

ITYR TR Y UgHR +H ID T U= o1 Ik qa1su|
g:mﬁ%m%%wﬁ%ﬁaﬁﬂvﬁﬁéﬁﬁwmﬁaﬁﬁaﬁﬁmqﬁﬁ

1. ORaH Bt
2. fore &t
3. dcH Bt
4. Y1y &1

Correct Answer :-

. YU DI

30) TUN ¢ H ADdiAD TGN BI UGl HS! URIET 99 §5 o9 HTHT UR AT IS0 BT TS g3 | 0T
gt foram war aifds T € UTHT S a1a AT U €1 IS0 6 3§ P | O ISl BT TS U & 3TYR TR
TEY 9P e, Sreiadr, Tpfa, 3 & TR W g3; 9 ARTd'S, IWIES R FRTS | YR T
oot udtem ot gt Bt yrer AifY1 gER ARy A A of wrer Y g wrer &1 g=f T e ¥ 7l
ST UTHT & =0 § A= firelt | afF= fF Faa 409 yRd ot argurer 31 saferd gt urrait
& F o) +% wrau™ 5918 | fES & srarar, 21 3= HTwnsi B WA §RT srggfa yrar & gwt feun
AT § | TS & q1g & ARG a0y § ) o1 TR &= | 410 9= 3t SR 78 ot 1)

Fg MR 5T & R2a: Fx o I59 & I & Real & gfed ¥ gur) g sggwar &) 3R aa fyer 31
TS & 91¢ TP Ad JUY a9 YR & SIS el § B5 3R 7o | TP 3 UTel B TRPR g Hedt A
S e WRa # S B AT gad A 39 A § $% WOR R I WHR $ AISRI o1
JageT Fat At I SR FRT SR ff Wufear @™ wR #F w=af w wyufa e oy = e
ST AT

1989 & 91¢ A F% T TETYT PR BT R TaT| TP URUITHRGTY IT IRPR DI W@rAwdl & T HR
T A ATSieR! B A5 uRuTdl IF g3 1 VAT H§T o1 Tl @ b 3@ YRa A THig a1 $8t Sife vad g3
211991 B} TUMT & AR UIRA A 1500 SIET-S(ET HTHTE 1 37 HTOTSH Y $© BT yrwrait & Jqg o
TET T 81 318701 & ford Wieig Y, wneht, Seeraal, Beiardl, worrh, ofielt ik ®3 g vrwnaff &) f&dh
& Igg ¥ @1 T 31 Al ymwrel & g a9 & a1 Ot uRa A 114 =71 YOI § 1 399 o 22 HTWSH &t
#ﬁﬂ;%am&aﬁzﬁeaﬁﬁmweﬁaﬂmﬁww%l 3T HTHTSHT P 31-3Ifera HTST PHET
Srar gl

ITYe TRIR Y UgH 19 IR T U= &7 I« 9a13¢|
TY: WINTIR 14l BT T I fovar

1. TSHIfAD &4 & fore

2. Thdl & ferg

3. 3rgSdl & forw



4. Uh UTNT-HTS S 38
Correct Answer :-

Topic:- General Urdu(L2GU)
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Correct Answer :-

L/‘”J'g
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Correct Answer :-

L,fti'f =S

O b/ iz e b ST an

, 3 il

2. ""

N Al

. = eI

Correct Answer :-

e
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Correct Answer :-
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Correct Answer :-

1 &8 S
1. L-’F"',
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Correct Answer :-
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Correct Answer :-
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§r204
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Correct Answer :-
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Correct Answer :-
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o
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Correct Answer :-
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Correct Answer :-

Topic:- Social Science (S5C)

1) A situation where the number of workers employed in a job are much more than actually
required or in other words a segment of the population not employed at full capacity is known as

. | T fRufar wigt fpelt 1 & @i e sifireY 9t e ara o smazas | oiftre gidt 8 ar
ngmmwﬁwﬁﬁuﬁmwmﬁqﬁmw g 39 FFUH
SIHT ST 7

1. Involuntary unemployment / 3AfRFH RIS
2. Voluntary unemployment / m SRISATRY

3. Structural unemployment / TRAATHD SRISHTRY
4, Disguised unemployment / Y99 SRISARY

Correct Answer :-

« Disguised unemployment / HUadd SRISTTR]

2) Who believed that learning should be ‘the realization of one's full potential and the ability to
use those skills for the greater good’? / foaer g T fh ‘arﬁnm, it ot I\ﬁ &Hdn 3R aiftrs |
P IS F FRIY 37 PN BT IUART HA B &1 $1 w1 T1RT?

1. Dr. Y. K. Singh / €. 918 . Rig

2. John Dewey / EiG| §_$C

3. John V. Michaela / S o, fo=rem

4. Charles Beard / ITcd foas

Correct Answer :-

« John Dewey / EiG| §_$c

3) BPL stands for . | Srdiva &1 favga &u gl
1. Base Poverty Line /aﬂq'\l%ﬁalé:l

2. Base Price Line /é&tr Eﬂgﬂ aléq
3. Below Poverty Line / ERIEIEE Flléq
4, Below Poverty Level / ERIEIEHRREN!

Correct Answer :-



« Below Poverty Line / ERILIEENIES)

4) Which among the following is the main industry of the MENA region of the World? / fRafefaa
# ¥ 31 91 fay & BT (THSTAT) &1 T 8T ST 82

1. Tourism & Hospitality / e 3R sifaa
2. Mines and Minerals / I+ G?R gl

3. Petroleum / a@m

4. Manufacturing / fafmfor

Correct Answer :-

o Petroleum / a—@ﬁﬂm

Match the following Sufi Saints with their Silsilas:

1. Nizamuddin Aulia | A.Nagshbandi
2. Bahuddin Zakariya | B. Qadirt

3. Ahmad Sarhindi C. Chisti

4. Milan Mir D. Suharwadi

| rafaf@a gt gdt &1 3% Rafadar 8 fae i

1. e sitferar | AL sererEdr
2. SEI3EId SARIMIT | B. HET

3. 3gHC TIlg=al C. fredr
4. AT #R D. ggIarar

e

1. 1-B,2-A,3-C,4-D
2. 1-A,2-C,3-B,4-D
3. 1-A,2-B,3-C,4-D

4. 1-C,2-D,3-A4-B



Correct Answer :-
e 1-C,2-D,3-A,4-B

6) A ship starts its journey from Kandla port on the west coast of India for Kolkata Port on East
Coast. Which among the following is a correct order of the ports of India coming on the way? /
TS g™ YRd & Ufih de R Sisdr deung | qdf de W Slasar s6ng & g -t amm 3R= ar
21 Frufafad § @ 919 T § oM a1l YR & U §eTe] $1 T I8l 4 82

1. Mumbai, Cochin, Tuticorin, Ennore, Paradip / H_@l_sc, aﬂ%ﬂq, Wﬁq, Q'._>i|?, IR
2. Mumbai, Mormugao, Cochin, Ennore, Chennai / HEI_S;, IhTT’ITGﬁ, Ob\ltlnl"l, Q?I\R, Ql?lg

3. Mumbai, Tuticorin, Ennore, Chennai, Vishakhapatnam / 5@%, ajﬁﬁﬁ?, Q:_>i|€, %lﬂ‘s‘,
ICEULCIEREE|

4, Chennai, Vishakhapatnam, Haldia, Paradip / ﬁa's‘, ﬁm, slézﬂ, URTGY

Correct Answer :-

e Mumbai, Cochin, Tuticorin, Ennore, Paradip / Has‘, ﬁ%ﬂ?{, ?‘Eﬁaﬂﬂq, Q'._>i|§, QRIE“CI

7) In the sea, plants are restricted up to the depth of . / 9 ¥, Wl B TeTg GEg
wfaafia g1

1. 1000 meters / 1000 X
2. 200 meters / 200 Hiex
3. 20 meters / 20 Hex

4. 2000 meters / 2000 Hex

Correct Answer :-
e 200 meters / 200 Hiex

8) The gold coins of Vijayanagara empire was not called as / SR Iy & 911 & Ryaw) &1
g 81 Pl ITar Ul :

1. Hon /B

2. Varaha / dIRgl

3. Gadyana / TTURITH
4. Niska / fr&p1

Correct Answer :-

e Niska / %1



9) When did the National Food Security Bill introduced in India? / HIRd # ?T@'CI' el
& fadrae o uwga fvar mare

1. 220 December 2011 / 22 f&E®R 2011
2. 227 December 2012 / 22 TGTaR 2012
3. 22" December 2014 / 22 faTaR 2014
4. 22" December 2013 / 22 fagaR 2013

Correct Answer :-

« 227 December 2011 / 22 f&TsR 2011

10) Who said that “Curriculum is a tool in the hands of an artist (teacher) to mould his
materials (pupils) according to his ideals (objectives) in his studio (school)”?

| fFem &1 T uTeuTal te FateR (Rierw) & g1y § Hislg 98 ¢d & fonTd g s+
& T@e) & 3= e (ITTAT) b AR -t IRl (rentda) @Y era g

1. Munroe / H:@

2. Arthur Cunningham / 3T R wfan
3. Robert Dahl / I8¢ ST8d

4. H. L. Laswell / Ud, Tdl. NIRE]

Correct Answer :-

o Arthur Cunningham / 3T R Hiad

11) Who described the role of Prime Minister as ‘the linchpin of Government’? / feaa

FUTHA Bt YT B PR 1 fafi= (Y& &1 siay sarn
1. Jawaharlal Nehru / STaTgR @Td g%

2. Alladi Krishnaswamy Tyer / 3{ccilal W SR
3. Dr. Rajendra Prasad / cif ?I@IE Udlq

4. Sardar Vallabhai Patel / dRqIR dcﬂ“—ﬂ_ﬁc ucd

Correct Answer :-

« Jawaharlal Nehru / STdTgR AT g

12) Only two Asian countries are in IGW country club of Geothermal Installed capacity.

Which are those Countries? / %ad & TRTATS &1 'l{;?'l'l'ﬂ'q TRITIUT &WaT & 1GW =T Feq o



HEES IR R F

1. Malaysia and Singapore / AT 3R R

2. Indonesia and Philippines / §SHRMT 3R frelidia
3. Laos and Cambodia / T3 3R dalfean

4. India and China / HRd S?IT GG

Correct Answer :-

« Indonesia and Philippines / SSHTRAT 3R et

13) Committee referred to criminalization of politics hinting at close nexus that
has come to prevail between the politicians and the criminals. / gfafa = Ieifd &

SrRTefipur &1 forsp fomam, St Adrait 3N ST & g ufvg dedy & = S 2|
1. Santhanam / JYTH

2. N.N. Vohra / Q. U, EhETr
3. Shri K. V. Chowdary / #t &. &t. Tllert

4. Shri Sharad Kumar / %1 ¥RG PHR

Correct Answer :-

« N.N. Vohra / Q. Q. ?ﬁW

14) are societies which offer credit facilities for a short term to the farmers. /

3§ o e @Y Sreurafy F g o gt e e §
1. Programme for Agricultural Credit Supply (PACS) /?ﬁfﬂ a—rrcﬁ%ﬁmwﬁwq (Cﬁ'Q?ﬂ'Qﬂ)
2. Private Agricultural Credit Societies (PACS) /ﬁﬁﬁwwm (W'Qﬂ)
3. Primary Agricultural Credit Societies (PACS) /WWT&[W giHfaai (Cﬁ'Q?ﬁ'@)
4, Personal Agricultural Credit System (PACS) / HfdiTd W U Ul (tﬂ'Q?ﬂ'Qﬂ)

Correct Answer :-

» Primary Agricultural Credit Societies (PACS) /Wﬁm ?ﬁf IRg giHfaat (fﬂ'Q'{:ﬂQﬂ)

15) is a writ issued to restrain a person from acting in a public office to which he

/she is not entitled. / fot aafed &1 SO Ordvife sratad & o1 31 A Ao
& forg s fpan man wrew (Re) @ ot a8 iRt 72t 81

1. Mandamus / TRHATCY
2. Quo warranto / EDHR Y31



3. Certiorari / S
4. Prohibition / ufauy

Correct Answer :-

« Quo warranto / AHfIBR =31

16) Howard Gardner proposed: / shTé MSR A yarfad foar ot
1. Theory of multiple intelligence / a@-m &1 Rrgia

2. Two-factor theory / a-HR Rgid

3. Multi-factor theory / dg-hReh Rrgid

4. Group factor theory / Hllil%ob HRS Rigid

Correct Answer :-

« Theory of multiple intelligence / GE-E?I@WT P Rgid

17) A social science teacher is expected to be an epitome of democratic virtues. Which

among the following is a democratic virtue? / IS ED ﬁ?l'F‘l' & e o ApdiAd '[[Uﬁ
BT Udte |11 STt ¢ | FRuafafad 7 & & ve dedife qure?

1. Students have the liberty of attending the class at any time / faenffal o foredt oft T g wen o
I B Y T B |

2. Distribution of questions among the students / [a@TTIAT T g3 &7 faaRun|

3. Accepts and invites differences of opinion from the students in a positive way / DPIRIHD =Y

3 faenfial @ aanel &) WieR ST § 3R HAT HRAT 5|

4. Maintaining strict discipline in the classroom / D&l T e SR dTY XGT|

Correct Answer :-

« Accepts and invites differences of opinion from the students in a positive way / HPRIHD =Y

Y faenfial ¥ gave) &1 WHR HaT § 3R AT BT g
18) The major demerit of lecture method is: / SRS fafer &1 PR CCRE R 2
1. It is a time consuming process / dg Yo JHY NEEINIRIER % |
2. It reduces the attention span / dg &I 3afe HH PR gt %I

3. It encourages learning through divergent thinking / g foaferd fida & wregd ¥ Sifer &
BISSIGERGIE]

4, Tt discourages self-effort by the student / g ST gIRT TH-UITH B sd\lo{-lli%d Bl %I




Correct Answer :-

« It discourages self-effort by the student / g ST gRT JHTH-UITH P Gd\l&ill%d Hl %I

19) The purpose of punishment is to decrease the frequency of behaviour. / FGIT BT

SEXT_ UAER Pt AR B HH AT
1. learned / ST

2. undesirable / HATBAY

3. positive / P RIHD

4. desirable / AT

Correct Answer :-

« undesirable / HATEI

20) The is indeed the foundation of socialization because it is the first contact of

g%;%ild./ qIEda | GHTSRR0 B 19 7, Fiife gg fed 9= &1 ugan Jus
|

1. neighbors / q@?ﬁ

2. family / GRAR

3. peer group / i dHe
4. environment / JITaRT]

Correct Answer :-

. family / ORAR

21) The Constitution has fixed of the total membership as quorum for both Lok

Sabha and Rajya Sabha. / GfA€T 7 SedHT 3R ITTHT 1 & fore wrdars T
PRA)FFUApagemarsr___ FAuffea feargl

1. half / 31T

2. one-tenth / Th-Gd|
3. one-fourth / W-Eﬁ?ﬂ‘s‘
4, one-third / Qéﬁ-ﬁ‘s’ré

Correct Answer :-

« one-tenth / Th-GHd]



22) Group activities are the cardinal exercises in collaborative learning, which are aimed to:

1 g feparerary argfee Rieror # ger 3nar €, e sexa A @:
1. Boost pride among the students / faemfal o enafaymy delHl

2. Reduce the burden of the teachers in their instructional style / fRrefl & Eﬁ%? GRS

AEITES A & T BT

3. Make the classroom active and participatory in nature / P&l Gal H?i?l T Ofhg 3R TeHT
T

4. Generate synergy among the members of the group / HHg & TGl o &g drerHd a1

Correct Answer :-

« Generate synergy among the members of the group / dHg & TG o &g drearHd a1

23) Which Five Year Plan was drafted under the leadership of P. C. Mahalanobis? /P 3t

eyt e .3 . gereifag & Aga § duR @1 7 oA
1. Second/@?ﬂ’q
2. Fourth / et

3. Third / Jdd

4. First / UYH

Correct Answer :-

e Second/ @?ﬂ'q

24) Which of the following is commonly used to record the informal teacher observation
regarding students in and outside the classroom? / fPa®T SUURT IrHTIa: DET & AR
3R areR faenfal & fawa & sFTaiRe® e saaiea Rats o & g fasar smar
82

1. Cumulative record / Sad R®Ie

2. Checklist / SITdI-I!

3. Rating scale / hH BERUE G

4. Anecdotal record / SUREFTAS NPl

Correct Answer :-

[N \Il(‘

o Anecdotal record / SURSHIHD |

~
3



Which among the following is typically used to display all kinds of creative works of students

in the classroom? / P& H faenfial & it U R & TWATHS F1af &) ugRid Hv1 & forg
fFrafafaa 7 @ feger Suah faly v A fear wrar g2

1. Flannel board / Fai-d 18
2. Black board / qaw CIE]
3. Peg board / BRI

4. Bulletin board / gﬁﬁ? CIE]

Correct Answer :-

« Bulletin board / g@lﬁ:{ CIE]

26) Where do Nyaya Panchayats prevail? / <Td VEIRG G| yeferd %'?
1. District / forem

2. Village / g

3. Block /WUW

4. Corporation / A

Correct Answer :-

« Village / g

27) How can a social science teacher effectively and experientially transact the concept of

sustainable development among students? / Y LIS ED ﬁ'ﬂ'ﬁ g faenfdal & waa
e B S@URUN H TUTH 3R SUATHS T A FA Ut HR JHdT 82

1. Conducting brainstorming session on sustainable development / Hdd EEIRRR _g&qﬁawqo
(SFTCITHT) T TaTferd He |
2. Showing a movie on environmental preservation / TgTaRuT WREU IR U fthed fqmmanv |

3. Undertaking a field trip with the students to an ecological hotspot / faenfefal & Try Udh
UIRIRRITIBIT BIcIc TR Ueh &1 T D Gl AR |

4. Delivering a lecture on sustainable development / Hdd faPhT IR AR TR |

Correct Answer :-

 Undertaking a field trip with the students to an ecological hotspot / faenfdal o Ty U®
uRfRUfAPIT glcedlc R U & IHT BT i A |

28) How many types of urban local governments currently exist in India? / HIRd H qdu=

H fha TR 31 e R PR 82



1.6
2.7
3.3

4.8

Correct Answer :-

29) According to the State Banks (Repeal and Amendment) Bill of 2017 which among the following
subsidiary banks of SBI ceased to exist? / 2017 PR dP (ﬁWT'[ 3R H.'-‘\’ﬁ?-lﬁ) fAdus & SAR
THdtens & Fafafad diver Jeras dof § @ $i9 91 §¢ 81 SRm?

1. State Bank of Karnataka / re aE g W

2. State Bank of Punjab /?%_Cr d 3 USTTE

3. State Bank of Meghalaya / We d 3HH AeTad
4. State Bank of Travancore / T db TH AGUIBR

Correct Answer :-

o State Bank of Travancore / Te % 3T FATAUBR

30) What does Pir mean in Sufi tradition? / ?Itfﬂ T A 1R &1 & o a?IT %?
1. Supreme being / USHIHT

2. Greatest of the Sufi saints / ﬁqﬂ Il & qa9 7gH

3. None / ﬁ'ﬁc :%)[
4. Spiritual Guide or Elder / 3TEf@® ANTGRI® a1 gl

Correct Answer :-

 Spiritual Guide or Elder / 1T es ANTGRI® a1 W’f

31) What is not true about Raja Ram Mohan Roy? / XTSIT XTH 'FﬁF:T IS IR A RTII 7‘|'{ﬁ %?
1. He abolished sati system. / 37814 il UUT BT AT fopa|

2. He founded Banaras Hindu University. / B@ef JdIRY %§ %”dﬁ@’lﬂ’q I RITTAT DI |

3. He founded Brahmo Samaj. / IBI T GHIS DI RYTTAT Dl |

4. He was an advocate. / dg Udh CEARKN

Correct Answer :-

« He founded Banaras Hindu University. / 381 S RY %§ fayfaeTera &1 RTAT &1



32) What is true about Simon Commission recommendation? / ATSHT HHIRT B RIGIRT & IR #
T I 32

1. Abolition of Sati / il TT BT I e
2. Abolition of legislature at Centre / &% H faemdT &1 I+
3. Abolition of Child marriage / STel fddTg &1 I+

4. Abolition of Diarchy / ¢ qTIA PT I

Correct Answer :-

» Abolition of Diarchy / FURIBEE:D IS5 Skl

33) Bhakti cult was spread in Maharashtra with the teachings of ./ & IUSN | Ufea vy
HERTY & Sra AT

1. Tukaram / JPRTH
2. Jyaneshwar / W
3. Ramdas / JHGNH

4. Chaitanya / ELER)

Correct Answer :-

o Tukaram / JPRMH

34) Quantitative restrictions imposed on imports to encourage domestic production are known

as . / TR TS Bl WA gd B & AT ST W T 1T AATHS Uidae i
_ FEUAAFTSETgl

1. Tariffs / URJeh
2. Subsidy / ST (Tfedal)
3. Quotas / Il

4. Embargo / UIUR gfasy

Correct Answer :-

* Quotas / ®leT

35) First five plan was based upon which popular economic model? / UYH teadfa aieEr fea
iy snfde wisa wv snuthia o

1. Lewis Model / ﬁgﬂ Arsd

2. Mahalanobis Model / TETAIOT AlSd



3. Cobb-Douglas Model / Pi1d-STe HlSd

ENRN kY v

4, Harrod-Domar Model / &X[S-SIH HIS]

Correct Answer :-

e Harrod-Domar Model / %il@@ﬁm Hied

36) Which Sufi saint propagated that devotional music was essential for being closer to God? / o

gwl Ta A waR fFar fe ufe w@ifta, wrar & w899 89 F e sraxas 32
1. Saikh Muinnuddin Chisti / [18 HIge 1 for=dl

2. Shekh Alam Bukhari / 19 3{TeTH R

3. Syed Muhammad / §9¢ YgWg

4. Kwaja Fariddudin / SATSll B 3\@'&‘ B

Correct Answer :-

o Kwaja Fariddudin / 4TSI o a\ga‘lﬂ

37) Which were the two cave paintings of Gupta Period? / [&I bTd & T®T ICECIER KL
1. Ajanta and Bagh / 3fSidT 3R a9

2. Ajanta and Ellora / 37SidT 3R TaRT

3. Lomas Rishi cave and Bagh / RIEIEEAL RIcal 3R 919

4. Ellora and Bagh / Q('*i 37 3R 919

Correct Answer :-

« Ajanta and Bagh / 3{SidT 3R 919

38) Which Women leader represented India in Second Round Table Conference? /fra afgaraara

fodta Meds wes § yRa &1 fafAftra foar
1. Sarojini Naidu / SRIFSF TG

2. Aruna Asaf Ali / 32UIT 3THH 37t

3. Kamala Devi Chattopadhyaya / HcT adt %I@HT'RJTG
4. Vijaya Laxmi Pandit / faorar @& dfgd

Correct Answer :-
« Sarojini Naidu / TRIfSH! a8

39) Ryotwari System was first introduced by Thomas Munro in ./ mﬁﬁ IRIT JaY U8
YT GRI GIRT U 3= &1 5 A



1. Bengal Presidency / STTTd ORiTS !

2. Bombay Presidency / i TSt

3. Madras Presidency and Bombay Presidency both / A& TS Sk s OIS St
4. Madras Presidency / Ag gde T

Correct Answer :-

« Madras Presidency / A&/ Uad!
40) Who won the ‘third battle of Panipat’? / YrId BT TRRT &’ et oftar

1. Hem Chandra Vikramaditya / 89 3% faswiiaa
2. Sher Shah Suri / ]R 28 1

3. Ahmad Shah Durrani / 3fgHq RIg §ﬁ=ﬁ

4. Ibrahim Lodhi / 3sfed et

Correct Answer :-

« Ahmad Shah Durrani / 3fgHg 21§ Rl

41) Who was the founder of Tuluva Dynasty? / @d ITTdgl & TRITTS B A2
1. Deva Raya I/ CeRER L

2. Virupaksha I1/ fasurey @T‘ﬂq

3. Tirumala Raya / faeae X

4. Tuluva Narasanayaka / T TRHTI DI

Correct Answer :-

 Tuluva Narasanayaka / AT TR DI

42) Who was not the prominent literary figure during Babur’s time? / P IR & T | uqy

AIfEAPR -Ta81 Y12

1. Khusrau / Egﬂﬁ

2. Mulla Shihab / Hcoll Higd

3. Sheikh Zainuddin / 2% Qe
4. Khwandamir / BEFEMHR

Correct Answer :-

o Khusrau / W



43) During the reign of Mauryan Emperor Binddusara which heterodox philosophy flourished? /

1 e fagar & ST & SR BIF A1 391 =i Bar-Bar?
1. Vaisheshikas / GRTRIGTH

2. Ajivikas / 3fofddmr

3. Nyaya / <Ol

4. Nityavadi / Famare

Correct Answer :-

. Ajivikas / 3ffamT

44) Albania, Bosnia and Herzegovina, Bulgaria, Croatia, Greece, Macedonia etc. are known
as Balkan countries. The term Balkan is derived from the following landforms? / 3reqTfT,

R 3R goAmiaAT, gEniaT, e, T, ARSIar e Hf arew- =0 & =9 | FF1 ST
2| STewH Xreg FufefAd Y-smpfaa o I fraw foran war 82

1. A Lake / U il
2. A Sea / U UH%
3. A Mountain / T Udd
4. A River / T A4l

Correct Answer :-

e A Mountain / Th Uad

45) Which of the following is a pull factor for Migration to the place of Destination? / fafafead s
DI T Tidad VI R YIA & T v Yeat baer (EiTq $T HR) 82

1. Unemployment / RIS
2. Peace and stability / RIifa SR fRRT
3. Political Turmoil / IS gaad

4. Poor Standard of Living / FHHSIR Sifad TR

Correct Answer :-

« Peace and stability / i 3R fRRa

46) The nature of social science is best represented: / o fag= &t uTﬁl DI gaaq aid I
St wTar 31

1. As a unified subject / Tdh WW forg & Tu g
2. As an independent subject / T a4 fa¥g & ®0 |



3. As a dependent subject / T (1R fdvg & =g o
4, As not a correlated subject / Udh Tegag favg FEUH BRI

Correct Answer :-

« As aunified subject / WWW%Wﬁ

47) “To monitor daily performance and to encourage students to reflect on their own
learning.” This is the purpose of: / S ueRia &1 fAfteror $1 3R fenfiat < @@ #t
e ®) e FA & R wienfed #3A11 "ag A F138RU 8:

1. Diagnostic assessment / '?Idli-\-lcb Hlh ol

2. Anecdotal records / SURSATATHD |§$V|é
3. Non-referenced assessment / &ma'fﬁa ATh a4
4. Portfolio assessment / W SATh A

Correct Answer :-

» Portfolio assessment / W SATh A

48) Sedimentary rock change to metamorphic rock because of which of the following

%rocess?/mﬂéﬁ,mﬁﬁﬂyﬁﬁmﬁﬁmma?wmﬁmﬁ
?

1. Re Crystallization / gﬂ%?ﬁw

2. Uplift Weather and Erosion / 3T A 3R 3aReA
3. Fusion / fder@

4, Burial-Heat and Pressure / Gt --dld 3R qld

Correct Answer :-

e Burial-Heat and Pressure / g --dld 3R qld

49) Which among the following is not an ideal teaching skill for a social science teacher? /

e & 9 w1 v amfore fage R & fore ve smext Rremr e 981 82
1. Optimal movement in the classroom while teaching / ﬁT&‘I’UT & éRI'_‘I DET | VdH Tfdl
2. Eye to eye contact with all the students / gt faenflal & Ty siike T g Jueh ST

3. Stimulus variation while lecturing / ST PR T \‘S‘E':Il—{"l |

4. Maintaining strict and rigid discipline in the classroom / P &I T e R PR SEUNEICEIY
RECEIN



Correct Answer :-

« Maintaining strict and rigid discipline in the classroom / D&l T e R PR SR 1Y
RECEIN

50) Which among the following is not a type of assignment in the strictest sense? /

fFrafafea 4 9 o1 faxs ordf A U UoR &1 9agex™ T8 82

1. Curricular assignment / TSIt HHj&-‘QH

2. Remedial assignment / SUARIH®D {-IH':JJL\“-‘QI"I

3. Revision assignment / GG THIGRM
4, Preparatory assignment / IR ﬂﬂﬂé'-‘ﬂ:f

Correct Answer :-

+ Preparatory assignment / PINEEY WQFT

51) Globe is a classic example for: / Tog LIUDPT TD 3P ¥ 3aleXul %:
1. Projected aid / Mol cg TIE

2. Audio visual aid / 3{1TST1 faS3reT LA
3. Graphic aid / UMith e e

4. 3D aid / 3D {1

Correct Answer :-
e 3D aid/ 3D ITYd
52) CANCELLED

Which Article of the Constitution makes it clear that Panchayat Raj Institutions have some
original functions and some agency functions? / Idfayr= &1 aﬁq E3l) GIH@E Yg Y hIdl %
o vaTad T SRAT3H & O Y $r 3R $O Sifiewur (Tele) w1 82

1.243-E /2433

2. 243-G / 243-Sit
3.243-F / 243-T%
4.243-0 / 243-3]

Correct Answer :-

. 243-G / 243-SI



53) CANCELLED

Who among the following influenced the development of Project method?/ fafafeada

e ufvaer ugfa & faera & uvrfad fear

1. Socrates / JPId

2. John Dewey / i feat
3. Pestalozzi / UKATQIT
4. Comenius / HIAMIY

Correct Answer :-

« John Dewey / i feat

54) CANCELLED

The Foreign Direct Investment was increasedfrom__ during the implementation of

New Economic Policy in 1991. / 1991 | T-I'é Gﬂfﬁﬁﬂﬂﬁ %Wﬁ'ﬂ?%ﬁ?ﬁm&rﬁ%&ﬁ
fra=r eI far mar uti

1. 50% to 70% / 50% ¥ 70%

2. 40% to 51% / 40% A 51%
3. 30% to 40% / 30% T 40%

4.30% to 39% / 30% A 39%

Correct Answer :-

. 40%to 51% / 40% T 51%

55) In an ecotone, the species which become abundant are called? / T Heh oI @) ¥,
q yerfaa Rt | it §) <t &, I8 we oran 82

1. Edge species / U vroTiferar

2. Keystone species / @R Tefaar
3. Endemic species / TSfia yafaar
4. Foster species / TIex UsTiaar

Correct Answer :-

« Edge species ) UST gt



Which one of the following is slow downhill movement of debris? / f7%& H A DI I TP aRy
1 it sreimdt wifar 32

1. Creep /10

2. Earthflow / §qI¥dlg

3. Landslide / YRaaq
4. Mudflow / UbYdlg

Correct Answer :-

« Creep /iU

57) Which of the following country is the largest producer of Uranium? / fafafead a

DI T S PRIAIH FT IS TST SIS 82
1. Kazakhstan / CaSIIECEIGH

2. Canada / TSI

3. Australia / 3o

4. USA / Ggad IsT 3R

Correct Answer :-

. Kazakhstan / SoITRIT

58) Which day is celebrated as Earth Day? / f&d fa9 &) gt feaw & w=u & waman wimar 82
1. 22nd March / 22 ATH

2. 5th June / 5 91

3. 16th September / 16 RdeR

4, 22nd April / 22 30

Correct Answer :-
« 22nd April / 22 30

59) When was the Gandhi-Irwin Pact signed? / Titll-33fa< THEd W $a gwarer fHar mar ur?

1. 1931
2. 1929
3. 1935

4. 1932



Correct Answer :-

60) Per Capita Income =

Jufa aafed ema =

Income

1 Employment rate

Sy

ISR &

National Income

Population

TSI 3
SHIEA

Taxable asset

3 Population
PR I HUR]
ST

Population

4. National Income
S
1Y 31

Correct Answer :-

National Income

Population



